Permit



City-wide Sports Office 1300 Senter Road San Jose, CA 95112

PHONE:(408) 794-6527 FAX:(408) 286-3682 EMAIL:FieldReservations@sanjoseca.gov

Permit # R47070

Status Tentative

Date Jun 13, 2023 11:23 AM

Expiration Date Aug 1, 2023

• •	Almaden Valley Youth Soccer League - 129 Sports - User I (Youth) P O Box 20491 San Jose, CA 95160	Company Phone 1 Number	(408) 440-7878
Agent Name	Justin Stopps Of Almaden FC	Work Phone Number Home Phone Number Email Address	(408) 348-1049 (408) 440-7878 justinstopps@almadensoccer.org
System User	Amy Mendez		

\$0.00 \$0.00	Deposits Deposit Discounts
\$8,054.00	Total Permit Fee
\$0.00	Total Payment
\$0.00	Refunds
\$8,054.00	Balance

Almaden Youth Soccer League			Subtotal: \$8,054.00
ions)			Center: RAMAC Park
END DATE/TIME	I	ATTENDE	AMT W/O TAX
Feb 27, 2024 6:00 PM		-	-
ıntil Feb 27, 2024 from 4:00	PM to 6:00 PM		
Sep 5, 2023 6:00 PM		100	\$70.00
\$35.00 / Hour x 2 \$70.0	0		
Sep 12, 2023 6:00 PM		100	\$70.00
\$35.00 / Hour x 2 \$70.0	0		
Sep 19, 2023 6:00 PM		100	\$70.00
\$35.00 / Hour x 2 \$70.0	0		
Sep 26, 2023 6:00 PM		100	\$70.00
\$35.00 / Hour x 2 \$70.0	0		
	Feb 27, 2024 6:00 PM until Feb 27, 2024 from 4:00 I Sep 5, 2023 6:00 PM \$35.00 / Hour x 2 \$70.0 Sep 12, 2023 6:00 PM \$35.00 / Hour x 2 \$70.0 Sep 19, 2023 6:00 PM \$35.00 / Hour x 2 \$70.0 Sep 26, 2023 6:00 PM	Feb 27, 2024 6:00 PM until Feb 27, 2024 from 4:00 PM to 6:00 PM Sep 5, 2023 6:00 PM \$35.00 / Hour x 2 \$70.00 Sep 12, 2023 6:00 PM \$35.00 / Hour x 2 \$70.00 Sep 19, 2023 6:00 PM \$35.00 / Hour x 2 \$70.00 Sep 26, 2023 6:00 PM	ions) END DATE/TIME

Oct 3, 2023 4:00 PM	Oct 3, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Oct 10, 2023 4:00 PM	Oct 10, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Oct 17, 2023 4:00 PM	Oct 17, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Oct 24, 2023 4:00 PM	Oct 24, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Oct 31, 2023 4:00 PM	Oct 31, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Nov 7, 2023 4:00 PM	Nov 7, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Nov 14, 2023 4:00 PM	Nov 14, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights	220.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Nov 21, 2023 4:00 PM	Nov 21, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights	520.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Nov 28, 2023 4:00 PM	Nov 28, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$	\$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Dec 5, 2023 4:00 PM	Dec 5, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$	520.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Dec 12, 2023 4:00 PM	Dec 12, 2023 6:00 PM	100	\$90.00
_	\$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I			
Jan 9, 2024 4:00 PM	Jan 9, 2024 6:00 PM	100	\$90.00
	\$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I		400	400.00
Jan 16, 2024 4:00 PM	Jan 16, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$ FAC SPORTS: Synthetic Turf Hourly - User I	320.00 / Each x 1 \$20.00 \$35.00 / Hour x 2 \$70.00		
·		100	\$00.00
Jan 23, 2024 4:00 PM	Jan 23, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$ FAC SPORTS: Synthetic Turf Hourly - User I	320.00 / Each x 1 \$20.00 \$35.00 / Hour x 2 \$70.00		
77.0 S. S. S. Synanciae full Flourity - Oser F	φ10.00		

2226, 4.20 TW		
Jan 30, 2024 4:00 PM Jan 30, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Feb 6, 2024 4:00 PM Feb 6, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Feb 13, 2024 4:00 PM Feb 13, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Feb 20, 2024 4:00 PM Feb 20, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Feb 27, 2024 4:00 PM Feb 27, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Sep 5, 2023 6:00 PM Feb 27, 2024 8:00 PM		
Occurs every Tuesday effective Sep 5, 2023 until Feb 27, 2024 from 6:00 PM to 8:00 PM		
Sep 5, 2023 6:00 PM Sep 5, 2023 8:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Sep 12, 2023 6:00 PM Sep 12, 2023 8:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Sep 19, 2023 6:00 PM Sep 19, 2023 8:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Sep 26, 2023 6:00 PM Sep 26, 2023 8:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Oct 3, 2023 6:00 PM Oct 3, 2023 8:00 PM	100	\$96.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1.3 \$26.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Oct 10, 2023 6:00 PM Oct 10, 2023 8:00 PM	100	\$96.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1.3 \$26.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Oct 17, 2023 6:00 PM Oct 17, 2023 8:00 PM	100	\$96.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1.3 \$26.00		

2720, 4.20 T W T OF THE		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Oct 24, 2023 6:00 PM Oct 24, 2023 8:00 PM	100	\$96.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1.3 \$26.00 FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Oct 31, 2023 6:00 PM Oct 31, 2023 8:00 PM	100	\$96.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1.3 \$26.00 FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Nov 7, 2023 6:00 PM Nov 7, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Nov 14, 2023 6:00 PM Nov 14, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Nov 21, 2023 6:00 PM Nov 21, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Nov 28, 2023 6:00 PM Nov 28, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Dec 5, 2023 6:00 PM Dec 5, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Dec 12, 2023 6:00 PM Dec 12, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Jan 9, 2024 6:00 PM Jan 9, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Jan 16, 2024 6:00 PM Jan 16, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Jan 23, 2024 6:00 PM Jan 23, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00 FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Jan 30, 2024 6:00 PM Jan 30, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Feb 6, 2024 6:00 PM Feb 6, 2024 8:00 PM	100	\$110.00
1		

FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	r I \$35.00 / Hour x 2 \$70.00		
Feb 13, 2024 6:00 PM	Feb 13, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	r I \$35.00 / Hour x 2 \$70.00		
Feb 20, 2024 6:00 PM	Feb 20, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	r I \$35.00 / Hour x 2 \$70.00		
Feb 27, 2024 6:00 PM	Feb 27, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	r I \$35.00 / Hour x 2 \$70.00		
Ramac Soccer Field #2 (Sports Field Reserv	vations)	Center: RA	MAC Park

FAC SPORTS: Synthetic Turr Hourly - User I			
Ramac Soccer Field #2 (Sports Field Reservat	ions)	Cen	ter: RAMAC Park
START DATE/TIME	END DATE/TIME	ATTENDEE	AMT W/O TAX
Sep 11, 2023 4:00 PM	Feb 26, 2024 6:00 PM		
Occurs every Monday effective Sep 11, 2023 u	ntil Feb 26, 2024 from 4:00 PM to 6:00 PM		
Sep 11, 2023 4:00 PM	Sep 11, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Sep 18, 2023 4:00 PM	Sep 18, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Sep 25, 2023 4:00 PM	Sep 25, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Oct 2, 2023 4:00 PM	Oct 2, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Oct 16, 2023 4:00 PM	Oct 16, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Oct 23, 2023 4:00 PM	Oct 23, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Oct 30, 2023 4:00 PM	Oct 30, 2023 6:00 PM	100	\$70.00
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Nov 6, 2023 4:00 PM	Nov 6, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$3	20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Nov 13, 2023 4:00 PM	Nov 13, 2023 6:00 PM	100	\$90.00
· ·	20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I	\$35.00 / Hour x 2 \$70.00		
Nov 20, 2023 4:00 PM	Nov 20, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$:	20.00 / Each x 1 \$20.00		

FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Nov 27, 2023 4:00 PM Nov 27, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Dec 4, 2023 4:00 PM Dec 4, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Dec 11, 2023 4:00 PM Dec 11, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		****
Dec 18, 2023 4:00 PM Dec 18, 2023 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00	100	# 00.00
Jan 8, 2024 4:00 PM Jan 8, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00	100	\$00.00
Jan 22, 2024 4:00 PM Jan 22, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00 FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Jan 29, 2024 4:00 PM Jan 29, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00	100	φ90.00
FAC SPORTS: Hall Outdoor Field Lights \$20.00 / Each x 1 \$20.00 FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Feb 5, 2024 4:00 PM Feb 5, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		400.00
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Feb 12, 2024 4:00 PM Feb 12, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		·
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Feb 26, 2024 4:00 PM Feb 26, 2024 6:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Sep 11, 2023 6:00 PM Feb 26, 2024 8:00 PM		
Occurs every Monday effective Sep 11, 2023 until Feb 26, 2024 from 6:00 PM to 8:00 PM		
Sep 11, 2023 6:00 PM Sep 11, 2023 8:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Sep 18, 2023 6:00 PM Sep 18, 2023 8:00 PM	100	\$90.00

225, 125 1 11		
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Sep 25, 2023 6:00 PM Sep 25, 2023 8:00 PM	100	\$90.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1 \$20.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Oct 2, 2023 6:00 PM Oct 2, 2023 8:00 PM	100	\$96.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1.3 \$26.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Oct 16, 2023 6:00 PM Oct 16, 2023 8:00 PM	100	\$96.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1.3 \$26.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Oct 23, 2023 6:00 PM Oct 23, 2023 8:00 PM	100	\$96.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1.3 \$26.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Oct 30, 2023 6:00 PM Oct 30, 2023 8:00 PM	100	\$96.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 1.3 \$26.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Nov 6, 2023 6:00 PM Nov 6, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Nov 13, 2023 6:00 PM Nov 13, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Nov 20, 2023 6:00 PM Nov 20, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Nov 27, 2023 6:00 PM Nov 27, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Dec 4, 2023 6:00 PM Dec 4, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Dec 11, 2023 6:00 PM Dec 11, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
Dec 18, 2023 6:00 PM Dec 18, 2023 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights \$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - User I \$35.00 / Hour x 2 \$70.00		
I		

22/23, 4.20 FW	PermitContract		_
Jan 8, 2024 6:00 PM	Jan 8, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	er I \$35.00 / Hour x 2 \$70.00		
Jan 22, 2024 6:00 PM	Jan 22, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	er I \$35.00 / Hour x 2 \$70.00		
Jan 29, 2024 6:00 PM	Jan 29, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	er I \$35.00 / Hour x 2 \$70.00		
Feb 5, 2024 6:00 PM	Feb 5, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	er I \$35.00 / Hour x 2 \$70.00		
Feb 12, 2024 6:00 PM	Feb 12, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	er I \$35.00 / Hour x 2 \$70.00		
Feb 26, 2024 6:00 PM	Feb 26, 2024 8:00 PM	100	\$110.00
FAC SPORTS: Half Outdoor Field Lights	\$20.00 / Each x 2 \$40.00		
FAC SPORTS: Synthetic Turf Hourly - Use	er I \$35.00 / Hour x 2 \$70.00		
Resource level fees			\$40.00
FAC SPORTS: Application - User I \$40.	00 / Each x 1 \$40.00		
FAC SPORTS: Outdoor Field Lights \$2	0.00 / Each \$0.00		

Custom Questions	
QUESTION	ANSWER
Has customer read & understand the Field Use Policy?	Yes
If non-profit, provide number	94-2598739
ls this a fundraising event or will admission be charged?	No
Will a fee be charged?	No
Will alcohol be served at your event?	No
Will amplified sound be used?	No
Will items be sold?	No

Payment Schedules			Original Balance: \$8,054.00 Current Balance: \$8,054.00		
DUE DATE	I	AMOUNT DUE	AMOUNT PAID	WITHDRAWAL ADJUSTMENT	BALANCE
Aug 1, 2023		\$8,054.00	\$0.00	\$0.00	\$8,054.00

X:	X:
Date:	Date:

City-wide Sports Office

Mailing Address: 1300 Senter Road, San Jose, CA

95112

Phone Number: (408) 794-6527 Fax Number: (408) 286-3682

 ${\it Email Address: Field Reservations@sanjoseca.gov}$

Almaden Valley Youth Soccer League

Customer Type: Sports - User I (Youth)

Customer ID: 236092

Mailing Address: P O Box 20491, San Jose, CA

95160

Company Phone 1 Number: (408) 440-7878

Authorized Agent Name: Justin Stopps Of Almaden FC

Work Phone Number: (408) 348-1049 Home Phone Number: (408) 440-7878

Email Address: justinstopps@almadensoccer.org